2x+1  a bx +c¢
B-1 x-1 x2+4+x+1

7 x# 12 RE

AR SteZ a, b, c5 7L W, a+b+c2 32?

@D 2 @ -2 3 1 @ -1



2. O3 B 4ax+ b7 A x% - x + 1 2 o] WO EE AfS
a+ b2l = Fstolet

B
=¥



Fod

5

G 7 o, &= a, bl H

k1 [e3]
xo]] “ﬂ'lﬂu/\O] 2%—b

3.

b

of gre?

a

@ 2 ® 3 @ 4 ® 5

D1



5t

2%

tod =

P2 x—y—1202 o]® x, yo| ] s
2, a-bol ke T

2x 4+ ay -

4.

Felzt.

S

N



P-x2EUYFHZOEL 2+ x-62 HFH x -1

=
=

oA f(x)

5.

R(x)2 &

=
=

X =3x+ 2% s 1o YA

sh?

?.

o F= o, f(x)
R(1) 9] =

@ 2 3 3

D1



KA f(x) 8 2%~ 42 gl W] ol 217k —xt 40]EF, B4
/( 52

X+ 1) 2+ 20 - 302 ol

@ -x+3
3B 2x-3

BRI

® x-1



i}
o}
2
mjn mﬂ/u
=T
e
= ofu
Nadlt
St
o
HE <
o
= ol
o n3
3% ol
AR o8
T H
el
o
o A
L
ol m)ﬂ
o B
3x &)

—~

—

|

2

»

SN—

— |

©

—

|

o

2]

» o

Q ©
—~
i

— 0_

+ %

o ~—

B —Im

© @



O f() & A2 x=3.x+ 12 e Ul AL 23, £(1) = 0w,

f4) _

f=4) m

Qe
»

8.
(m, n& A24)olth, o] W), m+n o] 3 Fatolzt,



9. f(0Ex-12 WFH UYHAZE 30, E (& + x+ 1) 2
U 2|7} 2x+40lth o] |, f(x) E x* -1 2 Whe YA E FolH?

D x2+x+3 @ x*24+2x+3 @ —-x2+x+3

@ —x24+92x4+3 B x2+3x+1



10.

xof B35t 32} ohatAl
U] 2] 7} 42k bk,
at b ke

D -1 @ 0

f)E x-12 Y= UHAZE 2, x + 12 U
f@) 1A 2 O ASE o, 45T bt 5



